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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 362 397 759
EARI1TH 1,033 1,173 1,278 2,451
EARI2TH 1,208 1,082 1,421 2,503
A R ET 2,280 2,347 2,568 4915
BERT1TH 542 543 592 1,135
B ERT2TH 413 420 469 889
B ERI3TH 317 355 337 692
BEBRT4TH 527 485 524 1,009
B EBRTSTH 821 900 909 1,809
B EET6T H 367 404 421 825
HiF = HT 549 609 649 1,258
45 KHT 468 528 557 1,085
HHT 1,012 1,130 1,259 2,389
BEHT 52 55 58 113
A K BT 626 734 743 1,477
7 HT 438 447 459 906
RICET 466 509 537 1,046
FORHET 202 200 232 432
RFHT 210 213 247 460
KHET 369 350 387 737
KET1TH 236 247 289 536
XKET3TH 293 350 325 675
XETATH 882 826 1,028 1,854
fit] LLI BT 2416 2,809 2,895 5,704
JE LT 979 1,114 1,227 2,341
EHERT2TH 304 441 432 873
EHERISTH 436 528 551 1,079
EHERT4TH 383 451 480 931
EHERSTH 331 387 459 846
EHERT6TH 211 283 266 549
EHERT7TH 164 248 255 503
=Y:i 332 342 395 737
8 [F T 1,573 1,441 1,676 3,117
=i ET 505 547 618 1,165
2l 3t BT 475 593 569 1,162
N =15 103 118 124 242
+HEFRT A 641 654 712 1,366
L EFHTER 854 752 857 1,609
L HAET 1,978 2,181 2,270 4451
LFH¥ABT1TH 74 123 122 245
LE¥ET2T B 156 159 177 336




BT 4 HH 5 £ i
LFEI3TH 153 149 178 327
L¥AET4 T B 163 175 203 378
LFEISTH 214 268 292 560
I == HT 208 217 241 458
JOSFET1TH 552 525 563 1,088
JNsFET2T H 549 532 563 1,095
JO=fET3TH 420 442 412 854
M=rET4T H 1,104 1,122 1,138 2,260
I S5k T 586 608 662 1,270
I=F5di) 227 217 254 471
Jt B BT 30 38 38 76
Jt ET 411 362 345 707
478 = HT 821 938 995 1,933
FHRHET 79 87 96 183
1 2 FF T 331 376 405 781
BEFE1TH 90 114 128 242
BEFE2TH 286 330 341 671
T EHT 129 145 142 287
/A BB T 3,085 3,151 3,361 6,512
1R T 258 291 311 602
YEZF HT 747 739 810 1,549
EXBI1TH 267 246 275 521
=/ LLIHT 224 164 131 295
Hh ek HT 16 16 5 21
T A EHET 10 13 10 23
THHEE1TH 729 690 718 1,408
TAHHEB2TH 525 572 568 1,140
THMHEB3TH 813 839 957 1,796
TEHE1TH 191 191 186 377
TEHRI2TH 811 764 879 1,643
T¥HEI3TH 167 169 188 357
TEHRI4ATH 91 94 110 204
TEEI5TH 223 242 248 490
T HAET 577 616 648 1,264
TET1TH 360 357 374 731
THAERT2TH 460 439 490 929
TH¥BISTH 200 199 230 429
TET4TH 157 153 187 340
TH¥BISTH 151 170 189 359
HTAEHET 23 22 9 31
T 192 195 193 388
#8)11 BT 44 45 54 99
KT HT 300 323 346 669
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HEZ HH 5 £ i

7B KHT 1,685 1,713 1,882 3,595
FSIED 271 327 320 647
XLAT1TH 849 794 934 1,728
X#ILET2TH 319 349 368 717
X#ILET3TH 148 158 164 322
1 [ BT 48 65 77 142
hHET1TH 361 384 415 799
hHET2TH 460 487 535 1,022
b HET3TH 432 515 520 1,035
aiEld:) 260 246 290 536
th 2 JEHT 224 210 247 457
ch T 124 125 163 288
TR AHT 766 880 887 1,767
At FAET 886 887 1,035 1,922
75 K ERET 792 985 1,024 2,009
75 2 [N HET 1,654 1,850 1,975 3,825
JAHT 801 783 879 1,662
$FHET1TH 536 467 534 1,001
$FHET2T H 402 392 453 845
¥FHETST B 204 216 233 449
T 165 218 225 443
HET1 T B 380 480 498 978
HET2 T B 350 370 403 773
HET3 T B 355 394 440 834
HET4 T B 116 111 138 249
J\ & T 992 1,078 1,129 2,207
J\ EHHT 162 204 200 404
T 4 BT 252 291 326 617
T A HT 1,842 1,899 2,053 3,952
THB1TH 24 22 21 43
T4HB2TH 1,447 1,379 1,340 2,719
T4HBI3TH 185 165 166 331
T4RBI4TH 371 309 379 688
T4RB5TH 957 696 966 1,662
T4HBI6TH 604 595 643 1,238
THRI7TH 360 393 433 826
T4HBISTH 392 416 435 851
THRBOTH 392 464 510 974
+4RB13TH 310 352 396 748
AR NBHT 1,986 1,733 2,009 3,742
HARRHET 1,336 1,238 1,228 2,466
HARRK/ERET 290 376 390 766
F AR JEHT 166 171 180 351
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HEZ HH 5 = 5
- WNEL] 132 121 132 253
FH AR hHT 199 227 261 488
FHARAKHET 443 470 502 972
& ARl 323 350 386 736
HARE)IIHT 296 277 307 584
=N ] 108 121 135 256
FH AR JTHT 102 97 115 212
EARERHE 675 582 676 1,258
B K BRHET 388 400 403 803
Edsa] 882 896 1,016 1,912
BEFET1TH 763 733 761 1,494
BEFET2 T H 596 607 674 1,281
BEFETST B 351 414 415 829
AFTET1TH 420 378 429 807
AIFFRT2T B 597 608 667 1,275
AIFTET3T B 606 696 757 1,453
A HT 185 214 200 414
B LH 219 285 300 585
NEL] 804 792 862 1,654
ERL 737 923 919 1,842
= HHT 1,739 1,941 2,038 3,979
HEXHRET1TH 581 650 673 1,323
HETIRET2TH 507 600 645 1,245
HLAREISTH 295 374 375 749
P fx T 319 367 401 768
mERI1TH 1,146 1,132 1,275 2,407
mERI2TH 834 957 1,057 2,014
FA T 1,335 1,403 1,581 2,984
= RITET 530 512 550 1,062
= AHT 342 274 340 614
AR#HT 10 9 4 13
=) 502 577 529 1,106
SHET1TH 711 634 794 1,428
S HET2TH 403 445 470 915
aHEI3TH 858 749 913 1,662
S HET4TH 769 647 856 1,503
E& T 1 1 0 1
J\BRET1TH 209 272 264 536
J\BRET2T B 214 230 232 462
J\BRET3T H 240 290 303 593
1T HT 289 430 416 846
FHeEIBRT1 T H 162 197 205 402
FHREIBRT2TH 303 438 465 903
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HEZ HH 5 £ it
FIEIBISTH 104 170 169 339
EOER1TH 30 46 45 91
EOER2TH 0 0 0 0
FENOERITH 24 21 3 24

HwEEt 88,438 | 92529 | 100,207 | 192,736
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